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� 	��� 
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�� ��� �
 ���
 � �	�� �� ���!� �
 � 	����
���� � ���� ��
���

� � �

#
����: �� �� �
����!��	� 	�	�=

A � "� � �"� ��""� "� 	�"�  �'�� � �D� � ���+ � �'�� ����"����� ���8��
�

"� 719)A � 	���� �� � ���� � �����
� ��� � ��� "� "��� �����
���� ��  �

"�"359 "� "� )A � 	�����'� � ���� "� ���� ��  �239 "� "� 
�� 	�����;
�

� ���� "� 179 "� "� 
� �� 	���
������ 143 "� "��� )J �� "� ���"���"� ��"

� �'�� "� �� ���� "���� � ���"���������� ������
����"�H � ��"� ���"� 
�� "�;
�

��� 	�� � � ##"� "� 
 � �� ��"� ���� ��� ����"���� "� "�) .-�����+


#3$%)
���)(2%)5

���� �� ��� ����� � �� ��� ��� �
���� �� � 
 ��� �� �	�

� 	��
��� ��
 ��������
 � �	� ���� � 6��� �� x � 	������

��	��� �� �7�	�� ��	� �� 
�� �� �� �� �

�	���� �� � �	�� �� � ���� �� �
���

�� 
 �� �
�����

" ���� � �� � 	 	� 	�	 � �� �	 �� � 	��

�� �	=�� �	��������� � �	�� �� 	��

�� �� ��	� �� �� �	���� �������� ����

��	�� 13=

x − 4
5

= 13n.

6 � �� � �� ����� � 	��������	� �� ��

	����	 ����
	� ��	�
 n �	���� ����

�� � ��	�
 �� �� �	�� ��  	� � 	3� A 	��: � 	�
	��
� ��� �

�	� 	� � �	��� 13 � ���� ��
�� =

x = 65n + 4.

) � �	�	
��	 ���� 
���	���� 	 
!�� �� � ���� ��������	�� �

�� ���� �� 11 � ���� � 
�� �������	����� � ��	 ��	��

n�) �

��� �
 � � ���� ��� � ���� ��	���� �1�3�5�7 �

9��� ��� ���	� $� 
 	���� � � �	�� ��%�� ���� �
��� �����

�	
� ���� �	 $����
	�� �� ���� %�

6 � �� ��� �� ����� 	��������	��� �� 719 �65 · 11 + 4 =
715 + 4�� ) � ��	� � �	�� ��� �	�� � � 360 �	��� ��

359 �� �� � ) ��
 	� � �	�� ��� �	�� � � 120 �	��� ��

239 �� �� �) ���!�	�� �	�� ��� �	�� � � 60 �	��� �� 179
�� �� � ) �������	� � �	�� ��� �	�� � � 36 �	��� �� 143
�� �� � 8 � � ��	� �� �� ������ 	 
!��� ��  	� � 	3� A 	�

��: � 	�
	��''�� �� � �� �	� 	� � �	��� 13 � ���� ��
��

�13 · 11 = 143��

�� ���������

& � 	 �� �	 �������� �
	� �� ������
����!�� � � ��  	�����
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��� � �	� ���� � � ��� 	� �� ��� 	��	����
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�:��� "� �� ���8��
� ����"��� ����D��� 	����
��� "� "� ���	� �� �"�H

"� � ���� �� ) ��"���;
�' �� �� �� 
8� H�� �"�"�;
��"�8���� 	�	����� � 


� ���� �� �� ��""� "� ���������
�� � � "� �8��� � ���� �� ���� ��""� "� 	� �

�� ���H����' �� �� ) ? ��;
�' �� �� �� �������� �� 	 ����� ����
�� �

�8��� "� � ������ � ���� �� ���� ��""� "� ) �� ������' �� �� �� �� �� �� 	

��
������� ����
�� �� ���� "� "�  ��� ���� 	� � �� ��"�) ����' �� �� ��

�� �� �� 	 �� ������ ����
��
�8��� "� � ���� �� � ��� ��� ���� ��""� "� 	� �

� � ��� � ���H����� �� ��� � 
 � �� �� "� ����"��� �� ���8��
�
�� �� �

� ���� ��)E�"�"� �� "� � �"� ��""� "� 	�"� "� � �'�� ����"����� ���8��
�

� ���'� �� �� �	���	� �H "� ������ � ���� �� �� F .-�����+
#3(G)


8� '����	� %
���)#$)5

����� ���	


����	�
���	 	�	� ��	� 
������	� ����� ����� 
����	�

���� x − x

2
− 1

2
=

x − 1

2

-��'�
x − 1

2
− x − 1

6
− 1

3
=

3x − 3 − x + 1 − 2

6
=

2x − 4

6
=

x − 2

3

? ��;
�
x − 2

3
− x − 2

12
− 1

4
=

4x − 8 − x + 2 − 3

12
=

3x − 9

12
=

x − 3

4

�� ������
x − 3

4
− x − 3

20
− 1

5
=

5x − 15 − x + 3 − 4

20
=

4x − 16

20
=

x − 4

5

? �  ��
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� ������ �	��
 � �����
�

" ���� ���� �	�� /�;�#
����: �� �	�������
����!��=

A � "� � �"�� �'�;
� ��""� "� "� 103
� �8��� �H "� ��� 	��� �� ���� ��

60)���� 	�"������	�� ���	 ���H ��� "�  ��"���  ��;
� "���� � �'�;
�

�"��� ��"�)���'� "� �8��� � �'�� 8� � ��
���� ���� "� � 206 "� "� �� ���� >

�� ��� � 120 "� "� ������ ���� 309�� ���� �� ��180 ������)��D���� 


��� �8��"� �� "� � �"�� �'�;
� ��").-�����+
#3(G)
���)#$()5

#
����: 	� ���� �� �� 
� 
�� �� �	 ���� � 	 
	 �	!��

�	 �� ��	 	� 	�	�� �;�	 ����� � 	 
!��	���=

<���� 	� �� ��� 	 �� �� � 	��������	��� �� x ��� �� a ��	�

�� �� �	�� � �	�� � �� ���� ��6 � �	�� ��	 �� �� ��	�

�� �� ��� !����� � �������� �� x − a�

#�
 	 �� �� �� 	����
� � ��	� ��
��� ��	��� �� ��

2(x − a) �� �	�� 
� �� 	� �� a �� �� � 7�	� ��� !�����

�� �� �� 2x − 3a�

8 ��!�� �� �� 	����
� �� � ��	� ��
�	 ��!��� ��	��� �� ��

	� �	 =6x − 9a�7
�
!���� �� 	� ��� �	�� 
� a �� �� �

��	���� !����� �� �� �� 6x − 10a�

�A �����	 �� �� �� 	����
� � �������	� ��
��� ��	��� �� �

�� =24x−40a�& � �	 �� 	� ��� �	�� 
� a �� �� ���	��� ��

��� !����� �
!���� 24x − 41a�

<��	 �� �� �� �� ���	��� �� 
� ����	� ��
���	 �� 	� �� 	

120x− 205a�6 � �	��� �	 �� � �	�� 
� a �� �� ����������

� ��� �� 
	 ��������	 �� ���8	 ��� ����� �������=

120x − 206a = 0

�
�

60x = 103a.

����� � 
�� �������	����� � 	��������	��� �� ���	�� �	�

�� ��� �� �� � �� ���� ��
 x = 103 �a = 60�<�	� ���

�� ��	�� �� �� 
 �	� �

��� �
 ��
� �
 �
����!��=

• <����� ������ 	�
� ��� � 103 �� �� �� �	�� �� 60 �� ��

���� !�� 43 �� �� �

• #�
 ��� �	�
� ��� 86 �� �� �2 ·43 = 86��� �	�� ��
60 �� �� ���� !�� 26 �� �� �

• 8 ��!���� �	�
� ��� � 78 �� �� �3 ·26 = 78��� �	�� ��
60 �� �� ���� !�� 18 �� �� �

• �A �����	 �� �� 	�
� ��� � 72 �� �� �4 · 18 = 72��
� �	�� �� 60 �� �� ���� !�� 12 �� �� �

• <����� �	�
� ��� � 60 �� �� �5 · 12 = 60��� �	�� ��
60 �� �� ��� � ��	� �� �� �	���������	 �� ���

�� ���������

@ �	 �� �	�� ����� ��  	����� 	 ���� �� ��
��� � �	� ���

�� � � �	�� �� �	��	
�� �� ����� � �� ��� 
�� ���  ����
�

� ���� �� �� 	��	���� � �	�� �
 �� �� ��� 	 �� 	���

��
�� �
 �� � � 	���

 �
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����: �� �


��  	����
 	��� ��	 '1��� 	���� 
 � ���������
 ���

�
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�
�
����� 
 ���� 
 ������� ��� ��

���� 	
�"����

�	�
 �� 
����
� ��� 	�� � 
� �
 � ?
��� #
����:�

�������� �����

? ��	� �� ��� 	�� ��� "� ���� �� ��� H� ) ?�� � +"� "� �� �� "��� ���� H

��
�������� ���� �	� 
 ��� ��� "� �� �� �� ��� "��� ���� H ��
��������

� ������ ��'
�� "��� ���� H ��
�������� ���� �	� �
	��� �
��
� �� ���

"� �� ��� "��� ���� H ��
�������� ���� �	� ) ? � �� "� � ��� �"�;
��� ��

�� �"��
� 
��� ������
�� 100 ��� H� ����� �� �"���"�
�
� ) E���	� "�

��� H� ���	� �� ��H� 8� ���8� �� 8� �� �F .-�����+
#3(()� 
���)2$/K

-�����+
#34()
���)2$)5

#
����: �� �� 	 �
����!�� ����� ����=

A � � ��
��	� "�  �� 1021 ��� H)?�� � + "� �� �� 256
��� ��� 192

�� 144 �� �� ��� 108 ��� H� ) ? � 	� �� �"���"�
�
� �� ��� 300
 �
�"��
� 
�400 ���8� 100 ����� �� �"���"�
�
� 
� ���	� �� ��� "� 8� ���8� ��

321 ��� H 8� �� �).-�����+
#3(() 
���)02#K -�����+
#34()


���)#24)5

#	 	�	 �� ����� ���� � 	�	��	 �	
� ��� 
 ��� �� ���

� 	��
��� ���� �� ���	�� 	�� �� � ��� � 0	�� 

� ������ �

 	������6��� �� x � 	��������	�	�� �� �

�� 7�	�	�� �� �	���	���� 8 	� � : ��=

1 +
x − 1

4
=

4 + x − 1
4

=
x + 3

4
.

7�	�	�� �� �	��� ��	� �� �� ������� ������=

x − x + 3
4

=
4x − x − 3

4
=

3x − 3
4

.

�� 7�	�	�� �� �	���	���� 7�� ��� ��=

1 +

3x − 3
4

− 1

4
= 1 +

3x − 3 − 4
4
4

=
16 + 3x − 7

16

=
3x + 9

16
.

��  ��"#$%&'����� (()&� ������ 
 ($($)



7�	�	�� �� �	��� ��	� �� �� ������� ������=

3x − 3
4

− 3x + 9
16

=
12x − 12 − 3x − 9

16

=
9x − 21

16
.

�� 7�	�	�� �� �	���	���� 7	� ��=

1 +

9x − 21
16

− 1

4
= 1 +

9x − 21 − 16
16
4

=
64 + 9x − 37

64

=
9x + 27

64
.

7�	�	�� �� �	��� ��	� �� �� ������� ������=

9x − 21
16

− 9x + 27
64

=
36x − 84 − 9x − 27

64

=
27x − 111

64
.

�� 7�	�	�� �� �	���	���� B �� ��� ��=

1 +

27x − 111
64

− 1

4
= 1 +

27x − 111 − 64
64
4

=
256 + 27x − 175

256

=
27x + 81

256
.

<��� � ���� �
 ��  	���������	���	�� 	�� �� �	�� �


�	��
�8	� � : �7	� �� �� � �	���
 ��!��	� ���	�� ��	��

	�� �� �	�� �
 �	��
� 7�� ��� �B �� ���� 8	 ��� �����

�������=

x + 3
4

+
9x + 27

64

= 100 +
3x + 9

16
+

27x + 81
256

.

���3��� ���� �� ����� ����� �	���� ��=

64x + 192 + 36x + 108

= 25 600 + 48x + 144 + 27x + 81,

�
�=

25x = 25 525.

#� �
��� 	��������	�	�� �� x �� 1021�

4 � �	 �� � �	��������� �� � ��	� 	�� �� �	���	 	���3
��

��	���� 	�� �� �	�� �� #
����: �� ��	 �� ������ ���

����	������ �����
 �� ���
�7�	�	�� �� �	�� ���� ��� �

��������	��	 8	� � : ��=

x + 3
4

=
1021 + 3

4
=

1024
4

= 256.

�� ���������
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A 	�� �#	:
� �? � ��� A ��������#
����:���� ���	�

���� �	

� �� (�������� ��� 
���
	��)�
���� ��� �� 
�

�� � 
�� ��� �����
��!�� �	� '1'���	 '1.�� 	�����

;�	 �� ��  	������

������ ��
���� ������

���� ���� �� �
 �� "����" �� �������	�H ���8��
� � 	�� �� "� 8� ��H�

���8��H "� "� )E � � � � � '� � ��� � 	���	� �H �� � 
��'������ "�<

1 -� �� � � � � ��� ��� ���� ��" �� ��� 	�' �� ���"�H ��� ������

� ���� 8���
���H ���8��	� �
� 	�  �H �8����
� �'� �  �H �H � ���� ��� �� ��

��� �� '�� � �D� �8 8� '����	�)

���� � � � � <1 E � 	�  ���  ���F

1 J
8�� ��
1 ��'������ "�
 	��8 � � �"�H) 1 ��'� �  �H � �����
�

� ���� ��"����"��� ���� ��"��� � ��� "� "��� 
8� ��� � ���� ��� �����
�

� ������ ��' ��� ��"��� � ��� "� "��� 
��� 	� � �� ��	 � ���  ����� �� ����

"���� "� "�
� �� ��	� �� ����"���� "� "� ��  ��� ���� �"���)

�	� "� �� �� �� "� ��	� � �
���� ������ 
	�"�"� �� "� � �"� ��" "� "� �� �� "�

� �� "����� � �
��"�	F .-�����+
#3#%) 
���)0$#)5

" ���� ���� �	�� �� �� 	 #
����: ��
	 �� �
����!��=

�� ��"�	 "� � ��� � � �� "����� ��1 048 575 "� "� 
 �� �� "�  ��" 	�"�"�

"���� 	  ��"� ��� �� ��� ������ � ����
�"� � � �"� "��� ��	�"�"�

�"��"�� � ��� ������� ��)?� "� �� "� � �"� ��"	�"�;
� �� � �������"���)

.-�����+
#3#%)

���)G$%)5

;�� ��� ��  � ���	��	�� ��  	����� � 	���� �� �� � ����

� � ���������� � � =

�� �� � 	����� � ������	 ����� � �� ��� �
���	 �� ��� ��

	� !�
 0	�� 


 �� � 	��������	� �� �� N 
 �

��� �


�� � �� �	�m � �	�� �� �� � ��	� �� �� ��������	

�� ��=

N = 2m − 1.

��



� ������ �	��
 � �����
�

�� #	 ��� ����	 ��	�� �	
� ���� �� �� � � 0	�� 

�

� ��� 
���	 � ��� ����
�� �� � �� 	�� �������	�����	��

m �	�� �� �
 ��	�N �	���� ��!��	� 25 �m > 5�
��	����� �� � �� 
� � ����� ���� �� ���
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